Chapter 10 Test Bank

	A. Rate
	B. Unit Rate
	C. Ratio
	D. Proportion
	E. Scale Factor
	


1. ___C___   A comparison of two quantities with or without the same units.
2.   _B_____ A ratio that represents a number or quantity  per 1 unit, a rate with a denominator of 1.
3. ___A___  A comparison between two quantities with two different units. 

4. ___D___  An equation showing the equivalence of two ratios. 
5.____E___  A positive number that is multiplied by the dimensions of shape A to get shape B.  

6.  Sandy has a recipe for sugar cookies that requires 4 cups of sugar in order to make 3 cakes. Which of the following is the ratio of cups of sugar to cakes for this recipe?


a) 
[image: image1.emf]  

b) 
[image: image2.emf]

c) 
[image: image3.emf]

d) 
[image: image4.emf]
7.  Miss Chantress has a box of chalk that contains 24 pieces of white chalk, 12 pieces of blue chalk and 8 pieces of yellow chalk. What is the ratio of white chalk to yellow chalk?


a)  2:1


b) 1:3


c) 3:1


d) 6:5
8.  If the school cafeteria sells 3 pints of orange juice for $3.75, how much will it cost to buy 7 pints?


a) $11.75

b) $8.75

c) $26.25

d) $21.75

9.  Mike went to the local farmer’s market and found a carton of 30 raspberries for $2.70 and a carton of 45 raspberries for $3.15. Which carton is a better deal and why?

ANSWER:  The carton of 45 raspberries because the unit price is $.07 per raspberry and the carton with 30 raspberries has a unit price of $.09 per raspberry.

10.  A local candy shop sells jellybeans for $2.15 per pound and licorice for $3.00 per pound.  The shop also sells 4 pounds of chocolate chips for $5. 


a.  Find a function that describes the cost, C(x), of x pounds of chocolate chips.




C(x) = 1.25x​​________________________
 
b. How much will it cost to buy 2 pounds of jellybeans and 3 pounds of 


    licorice?



a) $25.75 
     b) $13.30

c) $5.15 
    d) $11.15

11.  Solve the following proportion for x:   
[image: image5.emf].


a) x = 3/5

b) x = 1.5

c) x = 5/4

d) x = 4/5
12.  A bag contains both green and blue balloons. If the ratio of green to blue balloons is 2:5 and there are a total of 21 balloons in the bag, how many are green?


a) 2


b) 5


c) 6


d) 15

13.  Mrs. Tennant’s car gets 
[image: image6.emf]. She is planning a trip where she will drive from Tucson, Arizona to San Diego, California, which is approximately 400 miles. Which of the following is closest to the number of gallons of gas she should expect to use for the trip?


a) 10 


b) 12


c) 13


d) 14

14.  Kent averages 4 free throws out of every 7 that he attempts. If he makes 32 free throws in one season, how many free throws did Kent attempt?


a)  80


b)  56


c)  224


d)  128
15.  Sam and Dave eat at a café and the bill is $18.40.  If they leave a 15% tip, what is their final bill?


Answer:  ($18.40)(.15) = 2.76 , so $18.40 + 2.76 = $21.16
16.  The bill for your lunch, including a 10% sales tax, is $ 26.95.  What was your bill before the sales tax was added to it?    Answer:  x + .10x = 1.1x = 26.95. So, x = 26.95/1.1 = $24.50
17. What is the scale factor from the smaller to the larger rectangle?
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a)  2


b)  3


c)  1/3


d)  1/2

18. Rectangle A has a length of 6 in. and a width of 9 in. Rectangle B has a width of 63 in. If the scale factor from Rectangle A to Rectangle B is 7, what is the length of Rectangle B?


a) 13 in.

b) 42 in.

c) 63 in.

d) 16 in.

19. What is the scale factor from the larger triangle to the smaller triangle?
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a) 2


b) 4


c)  1/2


d) 1/4
20. A triangle has a perimeter of 13 cm. If each of its sides is increased by a scale factor of 4, what is the triangle’s new perimeter?


a) 26 cm.

b) 52 cm.

c) 104 cm.

d) 208 cm.

21. Jim owns a T-shirt company and decides he wants to have a sale where everything is marked 40% off. If a medium T-shirt is regularly $20.00, what is its new sale price?


a) $12.00

b) $16.00

c) $8.00

d) $14.00

22. Given that the following triangles are similar, find x. (Picture not drawn to scale.)
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a) 13 cm.

b) 35 cm.

c) 40 cm.

d) 42 cm.

23.  If a 10 foot pole casts a 5 foot shadow at 11:00 am, find the length of a pole that casts a 10 foot shadow at 11:00 am.


a) 5 ft.


b) 20 ft.

c) 25 ft.

d) 40 ft.

24.  Suppose rectangle A has length 6 and width 4.  If rectangle B is similar to rectangle A with a scale factor of 3.5 from rectangle A to rectangle B, what is the perimeter of rectangle B?


Answer:  rectangle B has length 21 and width 14. So, the perimeter is 2(21) + 2(14) = 70
25.  Mary is 4 feet tall and casts a shadow of 6 feet at 5:00 pm.  If the tree beside her casts a shadow of 72 feet at the same time, how tall is the tree?


Answer:  4/6  = x/72 . So, x = (4)(72)/6 = 48 ft
26.  A shoe store buys a pair of Italian leather shoes at the wholesale price of $240.  If the store marks up the price of the shoes by 75%, what is the selling price for this pair of shoes?


a.  $400
b.  $410
c.  $420 
d.  $430

27.  The wholesale price of a bracelet is $12 and the marked up price is $16.20.  What is the percent of markup?


Answer:  4.20/12 = .35
28.  A dress shop marks up the wholesale price 60% to the selling price of $72.  What was the wholesale price?


Answer:  x + .6x = 1.6x = 72 . So, x = 45
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